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MARKETING MANAGEMENT
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Time : Three hours

The figures in the margin indicate full marks
for the questions. 2

1. Answer the following : 1x10=10

(4) Fill in the blanks :

(i) Advertisement is the connecting link
between manufacturer and ;
(Middlemen / customer)

(i) Advertisement is
(Multi dimensional / Uni-dimensional)
(iii) According to the Modern concept of
Marketing is the king or

sovereign of the market.
(consumer / producer)

Contd.



(i) . In which consumw;nd;si
the product ang even may pay a s
¢ :’ L . .
o avoid (.

(Negative demand / Latent demap)
(") Advertisemeng s a messqpe o
Broup. - (Large / small)

(B)  State true o lalse :

(D) Industrig] £0ods and consumer goos
can be marketed in the same mannci

(ii) Idea gencration is the Jagt step in naw
product development process.

(iii) Institutional advertising jg displayed 1o
create a good wil] for the firm,

(1) Selling concept is moge comprchensjve

than f\/l.'u‘lwlin;{ coneept.

115

(v, ““l._)cnmp:»'lmmm 15 a lype o‘t‘advcrlising
AHERy, ’

WS thg, dbllnwing, brielly : tany five)
bl oo 2x5=10-
I'l"l”!" ishiolA =4

o Whiiter 100 points of difference between
marketifig and sclling,

(1) What do you mean by Convenience goods 7

47 (3) MKMN 3.2 2




(vi) Write short notes on the following :

2420
(a) Press publicity
(b) Marketing logistics.

4. Answer any five from the following : 8x5=40

(a) - Describe the nature and scope of Marketing.

(b) Explain the various stages of product life
cycle.

(¢) What are trading up and trading down in
product management ?

(d) What are the various marketing strategies
available for maturity stage of a product ?

(e) Describe product line policies and strategies
in detail.

() Distinguish between the traditional and
modern concept of Marketing.

(g0 What are channel conflicts ? How conflicts
are coordinated or addressed as they have
severe consequences ?
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